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Section-A
(TUs-21)
1. (1) What do you mean by ‘Diversion of Income’ ?
‘sTa w1 A’ W ey N gEea ¥ 2
(11)  When 1s a firm treated as Non-resident ?
U ®H AT Fa el & 2
(i11)  Fair value (rent) of a house for the year is ¥ 24,000 which was completed

as on 1st June, 2020 and it was let out from 1st August, 2020 at a rent of
X 1,500 per month. Find its annual value.
UH HehH formep 3faq fewn T 24,000 aifits & & < maad # 1 SH, 2020 B
TR VAR g %1 1 T, 2020 ¥ 3 1,500 whe o w S@ fE e
@ IF HHME H1 At god = a2

(iv)  An assessee acquired a patent on 10th November for ¥ 2,80,000 during
previous year 2020-21. How much amount will be deducted for the same
while calculating income from business and profession ?
T el 4 T 2,80,000 § ey 2020-21 § UH Y= 10 T H HA w5
SR 91 99§ A9 viSE ®1 T w9 F Tl 38 " I = Fdl 9| e 2

(v)  Daistinguish between Short-term and Long-term Capital Gains.
FCYHIEAE TS ST goft oy H =< darsy |
(vi) Shri Rakesh and Smt. Rakesh are partners in a firm. Their share of profits

T 50,000 and ¥ 40,000 respectively. Will their income be clubbed ? If not,
then why ?

sft TR Ud A TRV UH FH § HEER © | ST o ¥ famm s T 50,000
T % 40,000 ¥1 F0 fHEl TR F A R K A A WG w4 2 Afe A,
q =i ?

(vii) Shri Mohit donated ¥ 15,000 in cash to a charitable institution. What
amount shall be allowed as deduction in computing his total income ?
ot wifed 7 T 15,000 1 F T H TH oA FEn K e wer s w7 woE
#T0 99 3W fohat TR w FHEAd K ST 2

(viii) What is the D'ai-Bhag law in Hindu Undivided Family ?
feg arfawfsa afER | <@-9F 99E3 41 Bar § 2

(ix) Firm received in September, 2020 ¥ 28,000 from lottery. Find tax liability
of firm from lottery income.
wdi;?ﬁﬁm, 2020 % 28,000 51 g1 W F 3w w-arfac
B |

BR-112 £l ~ art

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

Scanned with CamScanner



https://digital-camscanner.onelink.me/P3GL/g26ffx3k

Firm Surajmal Baluram received the following gifts during the previous year
2020-21 :
(1) On Ist November, 2020 a cash gift of ¥ 56,000 from Shri Pawan Gupta.

(1) On 15th November, 2020 gold ornaments from Smt. Sharda Gupta, the

fuir market value of which is T 1,00,000.
6100 shares of Jindal Private Ltd. received from Shri Akhil Gupta on

December 1, 2020, the fair market value of which is ¥ 61,000.

(iv) 1000 shares of Amit Private Ltd. from Smt. Sunita Gupta for a
consideration of ¥ 70,000 on January 1, 2021, the fair market value of
which is rupees one lakh.

Find out the taxable income under the head ‘Income from Other Sources’.

FH YIAHA A 7 Taad 2020-21 § 7 I9eR 99 R

() 41 993 Tan 9 1 991, 2020 F T 56,000 F1 7Ha ITEH |

(1)  &Hdl sIRer Tar | 15 q9=r, 2020 H G4 & e s 3tEd s ge
¥ 1,00,000 %1

(i) &1 sfEga T | | fegwg, 2020 #1 f9<a wsae fafmees & 6100 319 S
Sfed AN 7eg T 61,000 1

(iv) =fHa ggae fafaes & 1000 9 fa1 sfed w19k 529 ¥ 1,00,000 ; 1 SHa,
2021 =1 #itwet gt e 9, foga forg T 70,000 F1 raE = T4

FH F A WA G H-AT T FE SIS

5. Explain the provisions of Section 80EEB in respect of deduction of interest on
loan taken to purchase a Electric Vehicle.

mmmmﬁa@wmmaﬂmmwan80EEB$UT61*H
w1 FHAEA |
6. Following particulars are supplied by Shri Kashi Ram for the assessment year

2021-22. Compute his gross tax liability :
#1 HMH g H-Fauie o 202122 % fad =9 faeo weq@ foen s 0 sge

4.

(111)

THel L JGE [ HSQ R®)
(1) 1/2 share from a firm 80,000
(i1)  Salary from the above firm 1,20,000
(11) Interest from the above firm @ 18% 36,000
(iv) Interest from Bank of Baroda on saving bank deposits 1,12,000
(v)  Lottery winning from M.P. State lottery 25,000
(vi) Long-term capital gain u/s 112 (Computed) 84,000
(vi) Life insurance premium paid on a policy of ¥ 1,00,000

taken on Ist March, 2012 22,000

(viif) NSC (VIII issue) purchased during the previous year 2020-21 6,000
BR-112 e da
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Interest on Capital 1,600
Depreciation 3,200
Goodwill Written-off 2,400
Travelling Expenses 1,200
Loss Through Fire of Stock-

in-trade 2,000
Contribution to unrecognised P.F. 2,500
Charitable Donations 1,000
Net Profits 20,340

Total | 71,840 73,541

The written down value of furniture on 1-4-2020 was ¥ 20,000. Half of the
furniture was sold for ¥ 6,400 and loss of ¥ 3,600 was transferred to profit and
loss account. The amount of depreciation charged to profit and loss account
includes the depreciation of remaining furniture of ¥ 10,000 @ 10%.
1-4-2020 1 TR 1 safefed qea T 20,000 o911 301 HAER T 6,400 H 94 fo
T TS % 3,600 F @it env-wfd @ A ewria w1 < erw-a @ J forat 7 e
F ufer § a9 g T 10,000 F w1 10% F R § 7@ Ao @
11. What do you mean by ‘Capital Gains’ ? How are capital gains calculated 7
‘Yt @’ | 9w EEEd € 7 dSt @i & o fRE yER # S § 2
12. From the following information compute the total income of the firm and net
tax payable by the firm for the assessment year 2021-22 :
(1) Profit from a small scale industrial undertaking established in rurg] area in
August, 1990 X 2,00,000. Interest on capital @ 12% and‘salary @ T 3,000
p.m. to each working partner is payable as per partnership deed. X gnd Y
are active partners and Z is sleeping partner in the ﬁrm. Capital of
X. Y and Z are X 1,00,000, % 2,00,000 and ¥ 3,00,000 respectively. Interest
’ neration to partners has not been charged.
.\ Profit on the sale of listed equity shares 18,209. These shares were
W purchased in Feb. 2020 for ¥ 20,000 and were sold in December 2020 for

7 38,200 through recognised stock exchange.

ale of house property ¥ 1,08,400. The hopse property was
ey Pr?f;a(::d&;z S2001-02 for T 2,50,000 and it was sold in July 2020 for
pu

Z 3,58,400. |
(iv) Interest received on unlisted

Z 11,700.

Loss from hou
e loan taken tO construct the property.

BR-112 A N C-258 PTO.

and remu

debentures on August 25, 2020 of a company

se property ¥ 8,000. The loss was on account of interest on
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Section-A
(@US-3) 2 each
1.5 40 What is a company limited by Guarantee ?
TR g wifva e = R 2
(11)  What is doctrine of Ultra Vires ?
seg aFd w1 fagr = ¥ 2
(iii)) What do you mean by Shelf Prospectus ?
e gfesRer § o9 F FHed © 2

(iv) What is Redeemable Preference Share ? In how many years it 1s required

to be redeemed ?
gfre T SRR F0 ¥ 7 ot aul # ee ded el e € 2
(v  What do you mean by Managing Director ?
ey TOTeE o 39 #4 GEHd § 2
(vi) When is declaration of solvency required to be made ?
e aE (SEE) F Ao we e S a2
(vil) What 1s Extraordinary General Meeting ?
SR ST Sk el § 2
(viii) Define Corporate Social Responsibility.
Smifiyer gt SweEiaT ® g Hifsre |
(ix) Define Company Secretary.

et afea &1 gfnfad S

(x) Define Fixed and Floating Charge.
e 3l wenfen =sl @ fRenfea wife)

BR-46 L] c-254

il
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Section-B

(@uz-=) 8 eacl

2. What is a One Person Company (OPC) ? Describe the privileges that a OPC
€njoys over a Multiperson Company.
U =fe et &1 a1 o7 & 2 3 favrefusrl 1 avia #ifse Sifs wr =fe Fo
(OPC) = wra ¥

3. Describe the provisions of the Companies Act, 2013 with respect to alteration
and ratification of the name of a company.
FEAN F A & e i sgemen & A § wed afutem, 2013 F A w
T Sifer |

4. Define Equity and Preference Share. What are the differences between both of

them ?
R ol FtE SR w Rty w5 A F F s R ? 9HEEU |
5. “Every shareholder of a company is also known as a member, while every

member may not be known as a shareholder.” Comment and state the difference

between member and shareholder.

“foret F O TOH THRURE H GGG ® Y H i I a1 £, TeiE TeaE 9o
F VAURE & T F TE T T GHA €1 IWURF IR TG § = g9 gu 3|

wgq W feooit sHifsa

6. Define Director of a Company. Discuss the position of directors in a company.
o @ FRuE B R ) e § FRee @ ffr 91w
7. Write short notes on the following :
(@) Certificate of Practice
() Qualifications of Company Secretary
frsfafiaa w dfea faao fafac
() ™ H FHO-TA (COP)
(@) e gfed # drEad

BR-46 s ) C-254 PTO
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LI % T
il

L T 1 77 o
AR e ————
mmm%,ﬁﬁmmnﬁmmmﬁwém%tﬁa&ﬁmwﬁ

90% mmmm%amwﬁﬁm%@m%mmwﬁa%wﬁqﬁswﬁﬁ
AN SR 9§91 Y& #1 §)

4.  What is meant by contract costing method ? Discuss in brief the various items
appearing in debit and credit sides of a contract account.

%mmﬁuﬁmﬁﬁrﬁwﬁm% ! TH I W F A ad S 9 § A Al
fafim w&i =+ g & HHHART |

From the following information relating to a manufacturing process of Modi
Ltd. Calculate labour variances -

Standard Rate of Labour % 10 per hour
Actual rate of labour % 12 per hour
Standard time 500 hours

Actual time taken 450 hours including

25 idle hours
6. Explain the meaning of marginal costing and give its advantages.
Wwﬁ@mmaémamsﬂ%wﬁaﬂmmﬁm
7. The product of a factory passes through three processes A, B and C. Following
1s the expenditure on these three processes

@wﬁwma,a,ﬁnn?ﬁauﬁwaﬁﬁmm%,ﬁmgﬁ & &
= frefafea § .

Particulars Process A Process B Process C
Material used < 10,000 ¥ 5,000 % 2,500
Wages < 13,000 ¥ 12,696 ¥ 7.223
Indirect Expenses % 2,800 ¥ 2,500 % 3,750
Units issued (50,000 units)  Z 20,000 - a
Normal Wastage 4% 10% 10%
Sale of scrap per 100 units T 10 T 25 Z 10
RR_7Q%7 AR
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The percentage of wastage given abové should be calculated on the units entering
each process. The finished product of ‘C’ is transferred to finished stock
account. The output of process ‘A’ is 47,520 units, of process ‘B’ 43.460 units
and of process ‘C’ 38,960 units. Prepare process accounts and abnormal wastage
and effectives account.

FR A TE A H WANIT BT TR YAE IR § S w0 A sEEd W oEe
' i w1 TR W ffa @i @ # wrfE wen E ) ufEa @ # S| 47,520
SIS, ‘9 9fHA H 43,460 s A ‘9’ wfwar @1 38,960 sEEAT ¥1 wEA @@
A EM &9 Ud 99q @1 d91 ST |

8.  Rajasthan Transport Company has been given a 20 km long route to run a Bus.
The Bus costs the company a sum of ¥ 40,00,000. It has been insured at 3% per
annum and the annual road tax amounts to ¥ 80,000. Garage rent is ¥ 16,000 per
month. Annual repairs is estimated to cost ¥ 80,000 and the Bus is likely to last

for 5 years.

The salary of the driver and the conductor will be ¥ 24,000 and ¥ 16,000 per
month respectively in addition to 10% of the takings as commission (to be
shared equally). The Manager’s salary 1s ¥ 25,000 per month and stationery will
cost ¥ 1,000 per month. Diesel and oil will cost X 5,000 per 100 kilometres. The
Bus will make 3 round trips per day carrying on a average 40 passengers in each
trip. Assuming 15% profit on takings, calculate the Bus fare to be charged from

each passenger per kilometre. The Bus will run on an average 25 days in a month.
TSI IR A @ UF 20 fRete Anl Wose weH w siEd § W g1 S
1 @ 2 40,00,000 ¥1 T€ 3% aMfteh X ¥ A & qen a6 w1 T 2 T 80,000
$| et faEwn T 16,000 wfd HIE qe0 AfUH FEHA H1 A I X 80,000 T
1 geuifaa sadese 5 a9 2
1o 9l GRETes &1 dad HwHe: T 24,000 3R T 16,000 wfa =rE &, 39 sfdfe
ﬁmﬁaﬁ@ﬁﬁmlo%m(ﬁaﬁﬁmﬁam)mmlww
maaazzs,ooovﬁmam@mﬂaﬁamﬂ,ooom%nmloomﬁa
mmam%ﬂaﬁW?S,OOO%lmwﬁaﬂﬂﬁjmﬁﬁaﬁgﬁw
aﬁ—aﬁ%aﬁaﬁﬂuﬁﬁﬂﬁﬁlaﬁnﬁﬂ@ﬁWﬂﬁﬁaﬁfaﬁww%

i geis At § U feeEer = &
m%amaamﬁaﬂmﬂzsﬁ'—lﬁm%l

ST aren fawEn 9 AT
c-259 PTO.

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

e — T ——

(@us-u)

9. A factory can produce 60,000 units per annum at its optimum capacity (100%).
The estimated cost of production are as follows :

Direct Material < 3 per unit
Direct Labour < 2 per unit
Expenses :
Fixed % 1,50,000 per annum
Variable % 5 per unit

Semi-variable overhead : ¥ 50,000 per annum upto 50% capacity and an extra
expenses of I 10,000 per annum for every 25% increase in capacity or a part

thereof.

The factory produces only against the orders and not for its own stock. If
production programme of the factory is as indicated below and the management
desires to ensure a profit of ¥ 1,00,000 for the year, work out the average selling
price at which units should be quoted. First 3 months of the year 50% of
capacity and remaining 9 months of the year 80% of capacity will be used for

production.

T HH 1 AT (100%) SAEA &1 60,000 3H1E 9fq ad ¥ 1 e # et
e 1 YR ®

JAE HHUT ¥ 3 ufq z=md
goay | ¥ 2 ufd =
gqq . |

T % 1,50,000 wfa =d
fEdiel % 5 wfa st

g -uftardasier 3uREaT : 50% wE&HA % T 50,000 wfa a9 qey 7 10,000 stfafa
=g &M o™ wEsEa | 25% W fHE wm w o gfg w5 S

A el AR WG T WA I B € A o whw 21 Ay St = e
HdFH 7 JHR @ SR ga 9 # 3 1,00,000 F A afm w1 @ ogemw @ A

fd TS 1 Siea fasa gea 91 I, 99 S 350 @ 99 ;99 & gaq 3 9%
ﬁmﬁmmSOamaﬁ%W9%ﬁWW¢r80%mMn

BR-287 f6 ) €2
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0. What is meant by Cost Accounting ? Explain briefly the objects and advantages

of cost accounting.
AT A ¥ Y T GH § 7 @WK oraiRd @ I¥d W AW H GAY F A
hiferC |

'1. Discuss the causes of differences between costing profit and financial profit.
How are two profits reconciled ?

arma @ ad faxa e § awm & sl @ faee wifwe) @ <A gEeE 6
y#R fea S g 2

2. The following data are given for Madhubala Ltd. :
qyaren foafwee & fou fafafes b9 v=@ €
Sales (8,000 units) ¥ 3,20,000, fixed cost ¥ 60,000, variable cost ¥ 30 per unit.
Prepare marginal cost statement and calculate the following :
= @rTd faare-ga TR #itse @ik frEfafea &1 T s
(1) P/V Ratio
NY-HET ST
(i)  Sales for 40% P/V Ratio
40% y-TEN AU & fou fawa
(iii) Break-even sales in value
o-faeag faa TfA

| (1v) Contribution, profit and variable co
Z 2.56,000 % fawa qea sy, UREdaeiel orTd TE @Y

ew sales volume to offset

sts at sales values of ¥ 2,56,000

(v) If the selling price is reduced to ¥ 32, find the n

this price reduction.

aﬁﬁmwwmzmﬁmm?ﬁﬁwﬁa@mmﬁﬁQﬁsﬁ
@W@ﬁmﬁ%mww

(vi) Sales to earn a profit of ¥ 40,000 under price reduction

aéﬁmqgrﬁim?m,mowamaﬁﬁaﬁ@ﬁmaﬁm

R e iy @ TS

, R-287 Bad ] C-259
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Total No. of Questions : 12 ] [ Total No. of Printed Pages : 4

ST (UQ?.—Uﬁ.) BT -fcfﬂ'u ,

C-257
B.Com. (Part-1I) Examination, 2022

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - II

(Banking and Financial System)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .—  Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(@uE-3N) (3w : 2 x 10 = 20)
e - wl qW vl F SW SINE (SW-HT 50 ) | Yol 99 2 3 @ B
Section-B (Marks : 8 x 5 = 40)
Note —  Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(@us-a) (3® : 8 x 5 = 40)
AT~ W@ H 9§ fFE ure g % SW AN (SW-E 200 v=E) | TS 9T 8 &
Calk y
Section-C (Marks : 20 x 2 = 40)
Note :—  Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(Tus-w) (3= : 20 x 2 = 40)
e - ;nﬁaﬁm’fa’rm%mw (W41 500 I7) | TAH G 20 3HF
|
BR-111 % B C-257 PTO.
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Section-B (@Uz-a)

2. Discuss the objectives of Financial Management.
faxita yory & Redi w1 fad=w i

3. From the following conventional balance sheet of Satyam Ltd. for the year ended
31st March, 2021. Prepare common size balance sheet for analysis :
w%ﬁégﬁmma‘,zomaﬁwéﬁaﬁaﬁﬁﬁmﬁ@@fmﬁw%gmﬁm
fog1 TR Hifwg .

Satyam Ltd.
Balance Sheet
as on 31st March, 2021

Particilass Note o, 31st March, 2021
®)
I.  Equity and Liabilities :
(1)  Shareholder’s Funds
(@) Share capital 30,00,000
(b) Reserve and Surplus 4.00,000
(1) Non-current Liabilities
Long-term Borrowings 10,00,000
(111)) Current Liabilities
Trade Payable 6,00,000
Total 50,00,000
II. Assets :
(1) Non-current Assets :
Fixed Assets :
(a) Tangible Assets 30,00,000
(b) Intangible Assets 6,00,000
(1) Current Assets :
(a) Inventories 10,00,000
(b) Cash and Cash 4,00,000
Total 50,00,000

BR—-48‘ f R C-256 PTO.
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RS e e

Liabilities 31-3-2021| 1-4-2020 Assets  [31-3-2021 |1-4-2020
R®) ®) () Q)

Creditors 44 000 40,000 Cash 7,000 10,000
Mrs. Mohan Loan = 25,000 Debtors 50,000 30,000
Loan from Stock 25,000 35,000
P.N. Bank 50,000 40,000 | Machinery 55,000 80,000
Capital 1,53,000 1,25,000 Land 50,000 40,000
Building 60,000 35,000

2,47,000 | 2,30,000 2,47,000 |2,30,000

During the year a machine costing ¥ 10,000 (accumulated depreciation ¥ 3,000)
was sold ¥ 5,000. The balance of provision for depreciation against machinery

as on 1st April, 2020 was T 25,000 and on 31st March, 2021 X 40,000. Drawings
for the year 2020-21 amounted to ¥ 17,000.

You are required to prepare :
(1) Statement of change in working capital and
(ii) Funds flow statement

o & 2 10,000 F @ F1 WA (THEW @ T 3,000) X 5,000 F A | A
o @@ @ forg WA 1 ¥ 1 S, 2020 ¥ 25,000 74 31 T, 2021 1 X 40,000

aqr) T 2020-21 F fog e R 17,000 &1
39T

@) e doft 1 faaon

(ii) 5 yarg faat

S F T

BR-48 (

T C-256 PTO.
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